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A car is moving with 65 km/h for 1 hour and then 100k a rest for 30 min e Car
joumey IS approximately
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|
m height IS

Question No. 2

s thrown vertically ppward. Its speed al the maximu

' An object |

- © equals the initial speed by which it was thrown

' O greater than the initial speed DY which it was thrown

O zero

e greater than the average speed
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Question No. 20

B NS
A rock falls from an edge of a mountain 45 m above the ground. Find its speed as it hits the
ground? (use g = 10 m/s?) IE
40 m/s
— W
20 m/s 5 il u g
10 mfs
_ OwmlS
30 m/s b
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A car in linear motion has initial speed = 72 km/h_ If it travels for 15 seconds with acceleration = 2 m/s/s, the t
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=t i oN
| stone drops in a free fall from the edge of a mountain, how long does it take to fall 125 m: (use g = 10 m/s/s)
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yuestion No. 18 \
 an object is falling with an acceleration that is less than the acceleration due to gravity, the object:

& must have big inertia.

© must have a small mass.
© is non-freely falling.
W is freely falling.
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- Question No. 3

As an object is freely falling its acceleration is

O constant but not zero.
Ze10
decreasing

increasing

Question No 13

emperature s measured with a









Question No. 3

An object is thrown vertically upward Its speed at the maximum helight is

@ > zero
@ zero
O maximum

W < Zero

Question No. ¢4

An object is thrown vertically upward. As it is going upward the speed

Zero

constant

inc reasing
" decreasing

CHAPTER 2: MOTION & ENERGY

Formulas & Constarts

Wetd

15 s - % W

Key Terms & Defenitions
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Question No. 21

A force of 1 N Is the same as

“1kgms
kg m/s/s \
1 kg m/s \}' g \ g,
1 kg s/m Bl v
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Question No. 22

If there is a net force acting on a moving object, the object must be:

' small
moving with constant velocity
large

accelerating
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Question No. 4

Two forces 10 N and 25 N act i
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Question No. 16

A net force of 6000 N causes a car to accelerate at 4 m/s/s. The mass of the car is:

' © 1500 kg
© 24000 kg
© 6000 kg ?1 P
© 15000 kg i A
o)\ o
e £
o
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A Moving obiject likes fe ke ils state of miction” ik the AN of
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qQuestion No. 7

A 1500-kg car accelerates at 5 m/s/s the net force on the car is

1000 N
8000 N
7500 N

1250 N






Question No. 9
According 0 Newton's second aw (F=ma), ¥ F s kept constant, hen

1 3 -
m is direclly proporionai & the acceleration 3

nortional 1o e acceleration 3
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Question No. 23

I'he coefficient of friction is always

" dimensionless
more than 1
less than 1

neqgative
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of water has a mass of 1 kKQ)

Question No. 17 < S Q
2000 L of water in @ minute a distance of 30 m. What power must the pump be able 1o deliver? (11
P cmm—

3 is needed 10 lift
—

A pumg

15 KW
25 KW Al \"6 3
20 KW %

30 KW
e °°KS
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{10E iriction force between two surface
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Question No. 3

A force is applied on an abject and the object did not mave. The appasing friction IS called:
i /

-

/' internal friction
+ dynamic: friction
@ static friction
WAy

+ Kinetic frict
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The power developed for doing a 140-kJ work in 7 s is
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Question No. 14

handaun with a force F1, the handgun recoils (=.5) with 2

S =)

ind in the same direction

| and perpendicular

F1and F2 are equal and opposite
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| Question No. 17

The unit (N.m) is a unit of:

O work
O power
© acceleration
O force
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Question No. 9

Fhe maximum static irction 18 alway s Kinetic Iriction

smalior than

L quarter the

¢S greater than
hall the
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Question No, 13

5 co =) (0
.
F 775 coso




Newton's third law states that for a force (1) applied from object A on object B, there s a force (2) applied from B on A such that

‘ @ forces (1) and (2) are equals in magnitude
& force (1) iIs mare than force (2)
& force (1) Is less than force (2)

W forces (1) and (2) are perpendicular
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Question No. 5

The friction between two surfaces increases as

area between the surfaces Ncreases
the normal force between the surfaces decreases
the coefhcent of inction decreases

' the normal force between the SUrtaces INCreases.
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ion No. 13

d man pushes on a wall with force 100 N. the wall pushes back on him with force of magnitude

o0 N
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3 :
rce of 1000 N i

1S making an angle w with the
1e Work doneis 500 kT, the distancé moved i8:

i C’J S
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direction of motion ofan object.
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Question No. 15

' The law of action and reaction 1S Newton's:

< Inertia law

Second law
© Third law

First law
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Question No. 5

The unit of the coefficient of friction iIs

m/s/s

newton

newton/kg
' has no units
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Question No. 23

Which of the following do not help reducing (k) kinetic friction:

' using Teflon
£ using heavy weights
using smoother surfaces

using lubrication (<w 3)
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Question No. 22
A 5-N object § freely faling from a height of 20 m {ts kinetic energy after it falls 90% of its initial height IS
P
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Question No. 3
\ N \\ {4
It the kinetic energy of a 2-kg object IS {J ks Speed s
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the Brger the potential e
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A pile driver falls freely 1701



Total Queshons in exam 25 |

Question No. 14

Answered o

Vv S
Awrecking ball of mass 200 kg 18 ratsed 6 m a e the 1
—/‘ -

12K
120 xJ
012k

12k)

- e

— \1lo00 'Y

>\o°°

N




MKCL OES

Physics_QuizZ_Sem2_201 9

Total questions in exam: 25 | Answered: 0

Question No. 19

Gravitational potential €nergy of an object is due to its

' temperature
© position
velocity

' acceleration
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uestion No. 25

-what speed does a 20-N weight have a kinetic energy of 100 J?
/-J

40 m/s
- 20 m/s
10 m/s
' 30 m/s

~f
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Fou=gy
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Question No. 11

A 10-kg of a substance absorbs 173 kcal of heat and its temperature rises from zero to 150 °C. What is

the specific heat c of this substance?

c=0.115 kcalkg.°C o )
o

c=0.515 kcalkg °C //

c=0315 kcalkg °C

c=0.715 kcalkg.°C

i
o

one 0

A
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Question No. 8 2 N 1
e i
How many kilocalories of heat must be added to 10 kg Tungsten to raise its temperature by 230 Fahrenheit?

(The specific heat of Tungsten is ¢ = 0.]134 J/8.°C and ATy = ] 8AT c)

) 4.09 kcal

© 409 keal (= C""'AT
' 0.409 kcal 20
' 40.9 Keal < 0134 X locev A—z/
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$ 0 kg of water (specific heat

Question No. 11
4190 Jkg °C ) to

How many meg3 joules of heat must be jiven off by
cool from 75 t0 10+C?

J 340 M)
1.36 M) f(;///']; I
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Question No. 20




Question No. 8

Converting 40 *F to Celsius gIves
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Question No. 4

In the Celsius temperature

373 °C
273 °C

@ 100°C

212 °C

scale. water bolls at
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Question No 21

Alemperalure Of 300 K eluals
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Question No. 24

4850 cal of heat is equivalent to:

Y 335kJ
J 31.7kJ
11.2 kJ
20.3 kJ
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Question No. 17

The human body average temperature is 98.6 °F. What is it in °C?

@ 373 °C
40 °C W% 8/
310 °C
37 °C I 5}16
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Question No. 11

A temperature of 30 °C equals:
@ 30 °F g/
Q 20 wi 1[ /
“ 303

@ 86°F




Quosnon No. 12

In the Celsiys lenlpcraru:(.- SCale Waler lreezes at




Question No. 13

Temperature IS measured with a

protractoy

Q thermometer

fuler

micrometer
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Question No. 15

absorbed by 10 kg of steel (specific heat - ¢ 115 kcalky °C) 1o heat it |
zero to 150 « ¢
} 751 kcal 1/
@ A
173 keal &7 mwt
71 keal

107 keal G=loxo UG R\G 2
_\22.C kel

5
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Question No. 17

How many kilo joules

of heat Q must be given off by
from 105 to 55 °C?

15 kg of iron (specific heat = 48] Jkg.*C) to cool

11 kJ D el Y o)
17 kJ /(, (07; /9(7 g
361 kJ AN

23 kJ




Quesnon No. 1g

\'.i;xm.'dlkm 1S the Change Of phase from

' gas o Iquig
SOl to Iquig
quid to SOlid

© iquid to gas













